DALEN

RUNDBALLELGFT

Type 1590

Reservedeler

93 02 28

PRODUSENT

LID JARNINDUSTRI A.S
N-5600 NORHEIMSUND

Telefon: 56 55 11 77 Teletax: 56 55 11 81



try022

try022




try022

try022


RUNDBALLELJFT

Pos.nr.: Del nr.: Navn: Antall
1 1590-010 Ramme, sveist 1
2 1590-040H  Arm, sveist hogre 1
1590-040V  Arm, sveist venstre 1
3 F430-060 Sikringsring A-60x2 DIN 471 2
4 1590-071 Stettering 2
5 K03-10 Glidelager 260x65x30 4
6 1590-070 Avstandsring 2
7 1590-060 Rull 2
8 F102-12040  6.kt.skrue M12x40 2
9 F312-12 Lasemutter M12 2
10 1590-050 Bolt 2
11 K03-09 Glidelager 240x44x30 4
12 F102-12025  6.kt.skrue M12x25 2
13 F420-12 Fjerskive B12 DIN 127 2
14 1590-081 Lisebolthandtak 2
15 1252-104 Laseboltfjer 2
16 1590-082 Lésebolt 2
17 F460-5 Fjerpinne o5 2
18 1590-075 Sylinderbolt 2
20-25 1590-200 Overarm, for rundballelaft 1590 1
20 1590-210 Arm 1
21 F460-5 Fjerpinne 5 1
22 1590-201 Bolt 1
23 1590-220 Stolpe 1
24 F420-16 Fjorskive B16 2
25 F102-16040  6.kt.skrue M16x40 2


try022

try022


HYDRAULISK SYLINDER 1292-A

Pos.nr.: Del nr.: Navn: Antall
1 1292-001A  Sylinderrer 1
2 F305-24 Sekskantmutter M24 svart 1
3 F421-24 Fjerskive 24 1
4 G51-2001 O-ring 220x2, 90gr.shore 1
5 1291-049 Stempel 1
6 G52-6301 Stempelpakning 263x47 1
7 1291-048 Pakningsboks 1
8 G52-3001 Stangpakning @30x40x10 1
9 G52-3003 Styrering ©30-36x10 1
10 G52-3002 Avstryker 230x40x7-10 1
i1 G51-5801 O-ring ©58x3, 90gr.shore 1
12 F435-65 Sikringsring I-65x2,5 1
13 1292-020A  Sempelstang 1
14 G01-037 Ansatsnippel 1/4"R-1/4"Rk 2
15 1590-100 Hydraulisk slange L=2000 2
16 G01-007 Overgangsnippel 1/2"R-1/4"R innv. 2
17 G12-001 Hurtigkopling ISO 1/2" HAN 2


try022

try022


